10

Andante

Pfte

0

i 18

=D
1

M|

L

=

4

-

18
0
2

cresc.

A\S V.

u mosso

olo

©%

45

|

Pfte

rit.

<

|
[

A\3VJ

4

m

PWM
5900

|
I

e

ma espressivo

) Ji"

—
5=

. \17 4




Andante

s

e
v

o
vi

1

N -

T

re

z

—_—

\_/

-

T | fib
| T
By --iv i

.nl

.#'.J.

=

-
e

1

¥
]

=

5

N>

o

N—

all T q
AMH - v 3
i
i Tl
ol \ b i y
1 J
o i {
HKEP 2 N ‘ i

=
==

-
r-4

i

&)
) O

PWM
5900




1
&
v

J

37

..

pru mosso

Y=

f

p o

e}

1

rit.

46

1°

5

=

@ Tempo 1

=

L
=

o
=

=

3

[~

=

SEEs

1
1

e

D}

|
|

55 pma éspressivo

(- —
M

il 8

[

|

[«

PWM




